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Teacher notes

This set of multiplication tables activities is designed to
help your students learn their tables in a variety of ways.
It explores other mathematical concepts such as greater
than and less than; inverse operations; word problems and

number sequences. There are also puzzles such as word

searches and calculation crosswords. The activities not
only test a child’s math skills, they also encourage them to
use logic, reasoning and comprehension skills.

Your children will certainly enjoy this different approach
to learning their times tables!

CONTENTS
3x table activity worksheet and answers
4x table activity worksheet and answers
8x table activity worksheet and answers
5x table activity worksheet and answers
6x table activity worksheet and answers
7x table activity worksheet and answers

9x table activity worksheet and answers

IIx table activity worksheet and answers

I2x table activity worksheet and answers
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Tick the numbers which
appear in the 3 times table.

™ N L \ / ‘“’\
,_.I' 32 | | 15
\ /

%, / "\\,,_

21 |
/ \/
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™~ / \ s "\\_ ,/*\\,
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There are six in total.

Complete the four number
sentences using the following
three numbers. Each line

needs to include each number.

7 3 2l

X =

rrerrrrrrrrrrrrrrrrrrrrrrrrrerrrrrrrr P PPy
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Can you fill in the puzzle

with 3x tables number

sentences?
1 0 X 3 = 3 0
3
x
Remember:
- One digit per
square.

y

/
Use a >, <, or = symbol with

the following pairs of

calculations.

3x3 Q 10
4x3 Q 5x2
5x3 O 6+6+3
8x3 O 30-3
9x3 Q 44 = 2
10x 3 Q 6x5
11x3 O 36-6




Complete the sequence:

36 33 __ __ 24 __ __ 5 12 - _ _
Jenny walks three miles to school
and three miles to get home GE EODQ@T HXT
again. Between Monday and Friday, SQ@EOJsSWT MW
how far does she walk to and NE RCTNE HXE
from school in total? EvVv HTHENI @ N
E L TCI ETEHT
TEBUETY T a Y
HWXNTFF Y U O
G T EI Y1 O sS KN
\ p I HKNsSsFUI GgE
E U CEPBR XD @G

Chelsea has three boxes of
sparklers. Each box contains twelve
sparklers. How many sparklers does
sh%\hav}e in total?

I

/ \
741\
/]

Find the answers in the puzzle:

8x3

lx 3

0 x 3
2%x3

\
\

A

v

3x3
3x4

3 x5
6 x3

7x3

e r e e r e r e e e e e e e PP

T T T T T I T T T T rrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrroro

Mrs Smith has thirty-one pencils.
She has six tables in her classroom
and puts an equal amount on each
table. How many pencils were on
each table?

Were there any left over?

o

/

Fo__xTHREE=T

( Complete the missing letters:

—__XTHREE=S__
S__xTHREE= _|l______
T__ x THREE =

e e
TT T T T 1 T T T T T I T T I T rrrrrrrrrrrrrrd




Tick the numbers which

appear in the 3 times table.

N N O \ ,/" Ty
q 27) {32 ) {15 ) 125 |
./ o\ / \/
,/ /"“"\ .'//’m\‘\. J/“—‘ \ / -\\‘r.

1.36,..' 1\8"2, 26'|
\/ \/ \/ \/

7N / \ /

24 o
\_/ \/ \ / \/

“‘\\a ; //" “\\

Complete the four number
sentences using the following
three numbers. Each line
needs to include each number.

7 3 2l
/7 x 3 = 21
3 x 7= 21
21 + 3 =7
21 + 7 = 3

There are six in total.

y

Can you fill in the puzzle

rrerrrrrrrrrrrrrrrrrrrrrrrrrerrrrrrrr P PPy
EEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEE|

/
Use a >, <, or = symbol with

with 3x tables number

the following pairs of

sentences? .
calculations.
2
" 3x3 C<> 10
4 3
5 1o 4x3 @ 5x2
1 0 % =
1 3 6 5x3 @ 6+6+3
| [~ Fillin numbers sx3 () 30-3
3 1 as d(SP'&YGd 9yx3 @ 44 + 7
= 2 There are @
- several 10x 3 6x5
3 different ways 11x3 @ 36-6
\ of doing this.
N

- _____




Complete the sequence:

Chelsea has three boxes of

sparklers. Each box contains twelve
sparklers. How many sparklers does
she have in total?

36 33 30 27 24 21 I8 I5 12 9 6 3
N\

Jenny walks three miles to school G ) _\
and three miles to get home GEIE|CD QTR X|T| K
again. Between Monday and Friday, S Q|E|O~L S WIT Miwl
how far does she walk to and NIE|E|CI TIN|IE |[H X |E 5
from school in total? ElvIiHITIHIEINDL @lN H
EIL|TI|I|E|T |E H|T -
_ T|E ?ﬂ RITIY|T aly| |
30 miles Hiw| x [Nl 7| 5[ |y ule| |
GglT|E[1|Y|li]|]Oo[3)K|N H
\ / I |[H K[N[s|Flu i |ale| |
Elu cle P“ﬁix pa |

Find the answers in the puzzle:

T T T T T I T T T T rrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrroro

N [ x 3 8x3 3x5
‘B:\\\’}/,/ /:?
—"— 0 x 3 3x3 6 x3
/| ni
/AN 36 2x3 3x4 7x3
: \
\‘
‘A
Mrs Smith has thirty-one pencils. '
She has six tables in her classroom "

and puts an equal amount on each
table. How many pencils were on
each table?

5

Were there any left over?

Yes, |.

( Complete the missing letters:

FOUR x THREE = TWELVE
TWO x THREE = SIX

SIX x THREE = EIGHTEEN
TEN x THREE = THIRTY

e el

[

TT T T T 1 T T T T T I T T I T rrrrrrrrrrrrrrd




appear in the 4 times table.

Tick the numbers which

Complete the four number
sentences using the following

rrerrrrrrrrrrrrrrrrrrrrrrrrrerrrrrrrr P PPy
EEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEE|

N / \. . \ /m\ E three numbers. Each line
40 )| L 15 s :
N / \ / \ / \ / - needs to include each number.
P W A ,/ Y / "\\,_ i 8 4 32
] 32 ;:l ‘\ ' 22 '! {,' E X —
/ \ / \ / \ / ]
) H X -
7N ‘/ T ‘/ TN /’ “\' s
24 | |44 /,2' 11 ) 18 ) 5 - =
\\/ / \\‘_\/ \\\"a”/ \h/ E_ . —_
There are six in total. H- -
_‘
Can you fill in the puzzle \[11/Uso a > < or = symbol with
with 4x tables number the following pairs of
sentences? calculations.
4x3 Q 10
4 x4 5x3
1 0 ® 4 = 4 Q Q
? 5x 4 Q 8+8+8
. Remember: 6x4 Q 32-4
One digit per 9x4 Q 60 + 2
- square. 10 x 4 Q 6x7
4x11 Q 48 - 4
A \
\
\.-m—




Complete the sequence:

48 44 __ __ 32 __ __ 20 16 __ _ _
\
Sally and Fred go fishing. Sally
catches eight fish. Fred catches GY zHRTZRNY
four times as many. How many HEKWY UuHY UEE
fish did Fred catch? P DY 1 O1I L OEV
BFT X FEGVFTL
KDNEREY TUY XE
BVEFTYY TI1 W
J FWWN s ORST
DNTEE I Douz
\ / MZN WWXEFaghe
EI G H T GGMAAZ

A pizza shop sells four pepperoni
pizzas and six cheese pizza each day.
How many pepperoni pizzas are sold
ina week?

i

Find the answers in the puzzle:

e r e e r e r e e e e e e e PP

T T T T T I T T T T rrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrroro

v

Mary collected twelve shells and
sixteen pebbles from the beach.
She decided to give an equal
amount of pebbles and shells to her
four friends. How many pebbles and
shells would they each get?

[ |
‘ .
\/ 4

| x4 4x3 9 x 4
10 x 4 4 x4y 6 x4
2x4 5x4
A \
\‘
|
’A
Y 4

Complete the missing letters:

F___xFOUR=S______

——_xFOUR=E____

e e
TT T T T 1 T T T T T I T T I T rrrrrrrrrrrrrrd




Tick the numbers which

appear in the 4 times table.

N N L \ ,/" “\ B
. 40 ,I' 33 | k 15 :
N N 2N / \ / :
/”“’"\ N ,/ ™~ / ™ .
32 ,..' g /1 22) 16 ) §
\ / \ / \ / \ / E
N \ N N g
) laa )11 ) a8 i
NN / \ ./ §

Complete the four number
sentences using the following
three numbers. Each line
needs to include each number.

8 4 32
8 x 4 = 32
4 x 8 = 32
32 + 4 = 8
32 + 8 = 4

_‘

y

Can you fill in the puzzle

rrerrrrrrrrrrrrrrrrrrrrrrrrrerrrrrrrr P PPy
EEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEE|

Use a >, <, or = symbol with

with 4x tables number

the following pairs of

sentences? calculations.
2
X 4x3 <:> 10
’ 4 4x4 (>)  s5x3
1 ] X 4 = il 0
5x4 8+8+8
1 4 8 X @
X = | Fill in numbers 6x4 @ 32-4
a 1 | as displayed. 9x4 @ 60 + 2
_ . There are 10 x 4 @ 6x 7
. several
- different ways 4x11 @ 43-4
\ of doing this.
N,

- _____




reeerrrrrrreererrerre e e rrr e e e e e PP r PP Tyl
e r e e r e r e r e e e e r e e e r e r e r e T

Complete the sequence:

A pizza shop sells four pepperoni
pizzas and six cheese pizza each day.
How many pepperoni pizzas are sold
ina week?

&L
et 28

Find the answers in the puzzle:

48 44 40 36 32 28 24 20 16 12 8 4
\

~[f Sally and Fred go fishing. Sally Y -
catches eight fish. Fred catches Gy Z R|IR|IT|Z|RIN|Y L
four times as many. How many HEKWY|UIHIY|UIEIE| E
fish did Fred catch? e ol lolh lLlclelv!l B
B FIT|X|F|IR|ag|F|T|L| H
(Q) K DIN|IR|Y|T|u|Y[x|e]| F
‘ 32 B VIE|F|T|Y Y |T[H |W é
J FIW|W|N|slelr|s]T) F
D N|T|E|E|I IPlofju z |
\ / Mz N WWxJElElae |
E I g HlrJamaaz |

T T T T T I T T T T rrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrroro

v

Mary collected twelve shells and
sixteen pebbles from the beach.
She decided to give an equal
amount of pebbles and shells to her
four friends. How many pebbles and
shells would they each get?

A N
“ /l’ 4 pebbles
3 shells

A 4

| x4 4x3 9 x 4
10 x 4 4 x4y 6 x4
2x4 5x4
A \
\‘
| |
’A

( Complete the missing letters:

FOUR x FOUR = SIXTEEN
TWO x FOUR = EIGHT
FIVE x FOUR = TWENTY
THREE x FOUR = TWELVE

e el

TT T T T 1 T T T T T I T T I T rrrrrrrrrrrrrrd




Tick the numbers which
appear in the 8 times table.

7N / N L \ N
26 ) 132 4 (52
NN VANV

TN / “\ TN TN
1; 72 ,.." I 116 | |36 |

./ \ / N4 \.,_&_/’;

o

P N S VN / ™
40 | 145 |1 64 ) | 68 |
S\ \/ \_/

There are six in total.

Complete the four number
sentences using the following
three numbers. Each line
needs to include each number.

6 8 48

Can you fill in the puzzie "\ Use a >, <, or = symbol with
H with 8x tables number : the following pairs of
i sentences? i calculations.
i | sxs () 28
| oo [ 2 O 7
ms 8 : 2x8 O 8+8+8
i Remember: | 8x6 Q 64-8
i One digit per | 7x8 () 96+2
+ - square. | 10x8 ()  5x16
i - 11x8 ()  100-8
H \
\ y
\.-m— "




Complete the sequence:

96 88 __ __ 64 __

40 32 __ __ _

Four spiders went to the shoe

shop. They needed a shoe for
each of their eight feet. How
many shoes did they buy
altogether? Write your answer as
a complete number sentence.

Zac decided to share sweets for his

birthday with his eight best friends.
He had 48 sweets in total. How many
sweets did each friend receive?

u I T R 6 G H O C Y
R F W T S H T U B M

R'Y OY S T N R S T

Find the answers in the puzzle:

e e r e r e e e e e P e Py
T T T T T I T T T T rrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrroro

v

‘Charlotte had 25 flowers to

decorate her house with. She
wanted to put an equal amount in
the lounge, the bedroom and the
kitchen. How many flowers were in
each room?

Were there any left over?

[ x 8 8x3 8x5
0 x 8 8 x 8 6 x8
\2x8 8 x 4 7 x 8
\‘
i
/

( Complete the missing letters:

- —_xEIGHT =F____
——_xEIGHT=S5______
——_xEIGHT = _I____
———_xEIGHT = ____T

e el

|

TT T T T 1 T T T T T I T T I T rrrrrrrrrrrrrrd




Tick the numbers which

appear in the 8 times table.

TN LT N TN N
.26 ,,.I' \32 )44 ) 52
\ / L / o / \h/
7N ,/‘ \ a \ / T
1; 72 |\ 56 16 | 136 |
X / \ / \ / . /
AN NN YN
40 | 145 )i 64 ) |68 )
YAV AV AN,

Complete the four number
sentences using the following
three numbers. Each line
needs to include each number.

6 8 48
6 x 8 = 48
8 x 6 = 48
48 + 8 = 6
48 + 6 = 8

y

Can you fill in the puzzle

rrerrrrrrrrrrrrrrrrrrrrrrrrrerrrrrrrr P PPy
EEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEE|

with 8x tables number

sentences?
1

X

4 8

Use a >, <, or = symbol with

N A A O A

the following pairs of
calculations.

1 g 8
X ~ | Fill in numbers
8 3 | as displayed.
_ 2 There are
2 several
- different ways
\ of doing this.
N

3x8 @ 28

4x8 () 7xa
2x8 @ 8+8+8
8x6 @ 64— 8
7x8 @ 96 = 2
10x 8 @ 5x 16
11x8 @ 100 - 8

-—!'

- _____




Complete the sequence:

96 88 80 72 64 56

48 40 32 24 16 8

[T e e

Y
) —

Four spiders went to the shoe

S|IC M D E |F |G |T|N

shop. They needed a shoe for
each of their eight feet. How
many shoes did they buy
altogether? Write your answer as
a complete number sentence.

4 x 8 =32

Iy X |T|L D|O |L |WJE

RYF|W]JT]|S |H T JU|B

Zac decided to share sweets for his

birthday with his eight best friends.
He had 48 sweets in total. How many
sweets did each friend receive?

6

RIYJOAYJ S |T |IN [RJS

— NN —J
e/

v

l x 8 8x3 8 x5
0 x 8 8 x 8 6 x8
2x8 8 x 4 7 x 8

M

T

Find the answers in the puzzle:

e r e e e e r e e e e e P P PP

T T T T T I T T T T rrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrroro

‘Charlotte had 25 flowers to

decorate her house with. She
wanted to put an equal amount in
the lounge, the bedroom and the
kitchen. How many flowers were in
each room?

8

ere there any left over?

Yes, |.

o

/

FIVE x EIGHT = FORTY

TWO x EIGHT = SIXTEEN

TEN x EIGHT = EIGHTY

ONE x EIGHT = EIGHT

( Complete the missing letters:

e e
TT T T T 1 T T T T T I T T I T rrrrrrrrrrrrrrd




appear in the 5 times table.

el

7/

127,_:'
\/ \/ \/

el

7/

] 3 0 ;:l

el

7/

1;\ 24 |
\/

Tick the numbers which

TN e \ / ‘“’\
32 | k 15
\ /

™ / TR

/‘ N /"'

-

Y / \ s "\\_ ,/*\\,

\/ \/ k\/

There are six in total.

™\ /

\/\/

/\\/\

Complete the four number
sentences using the following
three numbers. Each line

needs to include each number.

4 5 20

X =

rrerrrrrrrrrrrrrrrrrrrrrrrrrerrrrrrrr P PPy
EEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEE|

y

Can you fill in the puzzle

/
Use a >, <, or = symbol with

with 5x tables number

the following pairs of

sentences? .
calculations.
3x5 O 10
1lolx]|5s|=]|5]0 > X4 O 3%3
5 5x5 Q 5+5+15
X Remember: 8x5 Q 50-5
One digit per 9x5 Q 25x2
_ square.
4 10x5 Q 20x 3
5x 11 () es5-15
A \
\
N




Complete the sequence:

60 55 __ __ 40 __ __ 25 20 __ __ _
N\
In the running race, Mikey runs us
the 100 metres in |12 seconds. It X X BBY TNE WT FE
takles htzpetltortdowe f.(tVf ’;mis THI ETYEIl vE E
as long. How long does it take the -
y 2 S FI FT YLT VY T H
tortoise? S
EIl T OF NZC C H [
QV XZBEXRTI K
E U Il TZEVY G E R -
EV I FY TNEWT |
NV RLEFI wmy |
N i X WV oWl HT E N |-
JI FKs¥FkuLH |
Donald has 55 cents. He has five o
times as much money as Ronald. _ . ' T
How many cents does Ronald have? Find the answers in the puzzle: +
x5 8x5 5x5 .
0 x5 3x5 6 x5 ;
2x5 5x4 12 x 5 -
\ -
\‘
A‘ |
Scarlet is counting the cars that
pass her house. For every red car /

that passes, there are five white
cars. How many white cars has she
seen after four red cars have passed
her house?

( Complete the missing letters:

T__xFIVE=T__
___xFIVE=__V_
_____ x FIVE=F___Y

e el

[

TT T T T 1 T T T T T I T T I T rrrrrrrrrrrrrrd




127,"32‘&15"

T N ,/ N / TN
}I 30 '| }\ | ' 45 |

N / \ U ,/ "\.
1; 24 | \

Tick the numbers which

appear in the 5 times table.
™A N N L ‘“’\_

. N \/ |

./ \ / \ /' \ /{
f10) |
\_/ LY / O\ /

Complete the four number
sentences using the following
three numbers. Each line
needs to include each number.

4 5 20
4 x 5 = 20
5 x 4 = 20
20 + 5 = 4
20 + 4 = 5

_‘

y

Can you fill in the puzzle

rrerrrrrrrrrrrrrrrrrrrrrrrrrerrrrrrrr P PPy
EEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEE|

’—

/
Use a >, <, or = symbol with

with 5x tables number

the following pairs of

calculations.

sentences?
1
"
3 5
1 0 X 5 = 5 0
1 5 5

Fill in numbers

as displayed.

There are

several

different ways

of doing this.

3x5 @ 10

5 x4 (> 3x5

5x5 @ 5+5+15
8x5 @ 50-5
9x5 @ 25x2
10x 5 @ 20x 3
5x11 @ 65 - 15




Complete the sequence:

60 55 50 45 40 40 35 25 20 5 10 5

In the running race, Mikey runs
the 100 metres in 12 seconds. It
takes his pet tortoise five times
as long. How long does it take the
tortoise?

60 seconds
or | minute

Donald has 55 cents. He has five
times as much money as Ronald.
How many cents does Ronald have?

Il cents

Y TNE WT
T Y[F 1 Vv E
T Y|lLT Y T
FIN|z ¢ C H
BlIE|X B T |
Da e r
YTANE WT
RAEL W M Y
W[l |[H [T E N
s |FIK J L H

Find the answers in the puzzle:

e r e e r e r e e e e e e e PP

T T T T T I T T T T rrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrroro

Scarlet is counting the cars that
pass her house. For every red car
that passes, there are five white
cars. How many white cars has she
seen after four red cars have passed
her house?

x5 8 x5 5x5
0 x5 3x5 6 x5
2%x5 5x4 12 x5
A \
\‘

| |
’A

TWO x FIVE = TEN

ONE x FIVE = FIVE
EIGHT x FIVE = FIFTY
THREE x FIVE = FIFTEEN

( Complete the missing letters:




Tick the numbers which

appear in the 6 times table.

NN \\ //"*\
| 54 j 33 | k 15

" \/ \_/ \/
N // E’ //
32 )| 42 ) 36 ;
N4 \/ \ / \/
- \\ - \\ // NN
24 | |44 11 | | 18 |
\,,_\_/ \ / \ ./

There are six in total.

Complete the four number
sentences using the following
three numbers. Each line
needs to include each number.

9 6
X

rrerrrrrrrrrrrrrrrrrrrrrrrrrerrrrrrrr P PPy
EEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEE|

Can you fill in the puzzle

with 6x tables number
sentences?

’—

Remember:
One digit per
square.

y

+f Use a >, <, or = symbol with

the following pairs of

calculations.

6x3 Q 20

6 x 4 () 3xs6

5X6 Q 12+12+3
6x6 Q 44 -6
9x6 Q 100 + 2
10x 6 Q 20x 3
6x11 60 + 12

O




Complete the sequence:

Toni has four hens. Each

week, the hens lay twelve
eggs between them.

Find the answers in the puzzle:

72 66 __ __ 48 __ __ 30 24 __ __ _
\

Michael has 6 bags. He has -
66 marbles. He wants to put BaBWORFsXU [
an equal amount of marbles in EFPRGMU O R P
cach bag. EuRrROXO0ORTsuUu F
NI | @gPb¥rFTHYO F

How many marbles should go keaNDpy vyl tE F
in each bag? savHuTtTRrREY F
88: I 1 1 LT NWTI T g
(ST X P X P EE OYHF FH
b d TsHGEWE BT I -
YKs1 sTTNEKF L

T T T T T I T T T T rrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrroro

| x 6 6 x3 9x 6
How many eggs do they lay
in six weeks? 10 x 6 6 x4 6 x7
2x 6 5x 6 6 x6
A \
\‘
N\ |
, i
Complete the missing letters:

Janet has six pairs of shoes.

Each day, she wears a
different pair. How many
times has she worn each pair
of shoes after 18 days?

o

T__xSIX=T_____
—__xXSIX=S____
F___xSIX=_____ Y
——_—_ExSIX=_______ N

e e
TT T T T 1 T T T T T I T T I T rrrrrrrrrrrrrrd




Tick the numbers which

appear in the 6 times table.

N 7N O \ ,// ‘“’\
. 54 ,I' 33 ) | 15
o / LY / % / \ /

N 7 ,/ ™ /
] 32 ;'l 1,\ 8 ' 42 '| 36 |
/ \ / \ / \ /
N NN N
24 | 44 )1 11 | 18 )
/A SN N\
\_/ L 4 Ly LN

Complete the four number
sentences using the following
three numbers. Each line
needs to include each number.

9 6 54
9 x 6 = 54
6 x 9 = 54
54 + 9 = 6
54 + 6 = 9

y

Can you fill in the puzzle

rrerrrrrrrrrrrrrrrrrrrrrrrrrerrrrrrrr P PPy
EEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEE|

with 6x tables number

Use a >, <, or = symbol with

the following pairs of

calculations.

6x3 © 20

6x4 (>)  3xs6

5x6 @ 12 +12 +3

6x6 @ 44 - 6

9x6 @ 100 + 2

10x 6 @ 20x3

6x11 @ 60 + 12

sentences?
1
X
il b
1 0 X 6 = 6 0
1 b G
X = | Fill in numbers
6 2 as displayed.
- 4 There are
6 several
5 different ways
of doing this.
\
\5




Complete the sequence:

72 66 60 54 48 42

36 30 24 I8 12 6

Michael has 6 bags. He has
66 marbles. He wants to put
an equal amount of marbles in
each bag.

How many marbles should go
in each bag?

®o. v

VoW

Toni has four hens. Each

week, the hens lay twelve
eggs between them.

<
J

‘ﬁ

s 4 <4 7m0

<~ 472 - 471w
H T - A o < 0~ X
T~ TH~TO0C A|c

~/</n 2 4 <10 < A
i

Find the answers in the puzzle:

e r e e r e r e e e e e e e PP

T T T T T I T T T T rrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrroro

| x 6 6 x3 9x 6
How many eggs do they lay
in six weeks? 10 x 6 6 x4 6 x7
— 79 2x6 5x6 6 x6
Sy \
N\ & i
, o/
Complete the missing letters:

Janet has six pairs of shoes.

Each day, she wears a
different pair. How many
times has she worn each pair
of shoes after 18 days?

4

TWO x SIX = TWELVE
TEN x SIX = SIXTY

FIVE x SIX = THIRTY
THREE x SIX = EIGHTEEN

e el

[

TT T T T 1 T T T T T I T T I T rrrrrrrrrrrrrrd




Tick the numbers which
appear in the 7 times table.

7N / N L \ N
. 28 ,I' 32 k 14 | |
S\

TN / AY YR

] 70 ;_'l : 16 ;' {\ 84 /.'
_/ \ / N A %A

> 3

N 7 NN 7Y
40 | (49 | 64 ) | )
N2 \/ ./

There are six in total.

Complete the four number
sentences using the following
three numbers. Each line
needs to include each number.

7 5 35

gy
i Cap you fill in the puzzle Use a >, <, or = symbol with
i with 7x tables number i the following pairs of
g sentences? g calculations.
i | s O
& i 4x7 () 8x3
EE 1 0 X 7 = 7 0 ; 2X7 O 7+7+3
& x Remember: [ 6x7 Q 49-7
i One digit per | 7x8 Q 110 + 2
& - square. | 7% 10 Q 3 x 20
i ; 11x7 Q 84 - 14
- A \
N /
\.-m— T




Complete the sequence:

84 77 __ __ 56 __ __ 35 28 __ __ _
\
Seven sisters receive five
presents each for Christmas. OCNEVESKRGM
How many presents are under BB FOURTE EN
the Christmas Tree in total? XWBAHzZWC gEr
P A S EVENT Y I
FF ORTY T WO A
X1 5sY TFI F DK
Ss1 XTYTHZREE
U F ORTY NI NE
\ / X F GE HL K U AF
ENOYTNE WT X

A bus has seventy seats. One tenth
of the seats are empty. How many
passengers are travelling on the bus?

Find the answers in the puzzle:

e r e e r e r e e e e e e e PP

T T T T T I T T T T rrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrroro

(— | x 7 7)(2 7 x 3
000000,
] 7x6 7 x7 8 x7
\ 0 x 7 9x7
\‘
‘Adam eats three apples each day. '
How many apples has he eaten "

after a week?

[

How many has he eaten after two
weeks?

How many has he eaten after three
weeks?

( Complete the missing letters:

——_xSEVEN=F_______
—__xSEVEN=S______
—__xSEVEN=____N

- _TxSEVEN=F_______

e el

[

TT T T T 1 T T T T T I T T I T rrrrrrrrrrrrrrd




Tick the numbers which

appear in the 7 times table.

Complete the four number
sentences using the following

H N 7N\ \ N 1 three numbers. Each line
| 28 ) | 32 14 ) (52 ) s .
H O\ / \ / N / \/ - needs to include each number.
EE ]!. 70 ;'l . 57 : 16 | l.,‘\ 84 /J E 7 X 5 — 3 5
N \ / \ / \ e, o N
aE B g 5 x 7 = 35
o N 7 N/ N 7N ]
| 40 ) (49 )] 64/.! 63/..-' i 35 -~ 7 = 5
- S N . N o H
H : R 35 + 5 = 7
_‘l'
i Can you f(” in the pUZZle \ Use a >, <, or = Symbol W(th
-H sentences? H calculations.
1] 1 i
- X g
= . ; i 3x7 @ 24
& Tolxl71-1710 : 4x7 () 8x3
& ! / 7 : 2x7 @ 7+7+3
- X = :
-H . .| Fillin numbers | 6x7 @ 49 -7
= - .| asdisplayed. [ 7x8 @ 110 + 2
15 Thereare — f 7x10 (5)  3x20
mE several :
i ’ different ways | 11x7  (5) 84-14
T\ of doing this.
h /
\.-m— "!




Complete the sequence:

84 77 70 63 56 49

42 35 28 21 W 7

Seven sisters receive five N\
presents each for Christmas. C"[N E V E 5]K R a M
How many presents are under B E»[F CuUETEEN
the Christmas Tree in total? XWBaQaHzZWC gEr
PA[sEVENT Y]

FIF OCRETY T W OJA

35 (x1 syTEi ¥FlDEK

[5| X TYTHREE

UIF OBRETY NI NE

\ / X F gE HL K U AF
[EN Y TNE W‘T]x

A bus has seventy seats. One tenth
of the seats are empty. How many
passengers are travelling on the bus?

LIS 63

Find the answers in the puzzle:

e r e e r e r e e e e e e e PP

T T T T T I T T T T rrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrroro

v

y,
Adam eats three apples each day.
How many apples has he eaten
after a week?

[

How many has he eaten after two
weeks?

21

42

How many has he eaten after three
weeks?

63

| x 7 7 %x 2 7x3
7 x6 7 x7 8 x7
0 x 7 9x7
A \
\‘
| |
’A

( Complete the missing letters:

TWO x SEVEN = FOURTEEN
TEN x SEVEN = SEVENTY
ONE x SEVEN = SEVEN
EIGHT x SEVEN = FIFTYSIX




Tick the numbers which

appear in the 9 times table.

e

Ve

™ / ™ 7 \ _,/""“'\

27 ,I' 32 | |15
\/ \/ \/ \/

e

Ve

L 30 )| 63

\/\/ \/
45 | 26,,.-'

\/ \/ \/\/

e

,/

™~ / \_ /\

81,_.3' 40'1
\_/ \/\/ \/

There are six in total.

Complete the four number
sentences using the following
three numbers. Each line
needs to include each number.

5 9 45

X =

rrerrrrrrrrrrrrrrrrrrrrrrrrrerrrrrrrr P PPy
EEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEE|

’—

Can you fill in the puzzle
with 9x tables number

sentences?
1 0 X 9 = 9 0
9
" Remember:
One digit per
= square.

y

/
+f Use a >, <, or = symbol with

the following pairs of

calculations.

3x9 O 28

9 x4 () 3x9

9x5 Q 9+9+18
8x9 O 80-9
9x9 Q 40 x 2
10x9 Q 18 x5
9x11 Q 110-9




7
—{ Complete the sequence:
—1 108 99 __ __ 72 __

45

/

—f |share 63 sweets between nine ) T
—{ of my friends. How many sweets EsSLECSPXUO s
—1 do they each get? RI T VXPTECW [
o= U1 BY1 ET E
=i OTI FsaTrtaNyY F
2 FYUYYNEHI T E
z= YTCTTBNTNN F
ig THBRRLI YEE [
Y FRCol BNoaeavVv F
i | EZFHEKNUJUE F

- FEMETDDEOs F
g How many legs would nine spiders Fi
1 have? . . [
] Find the answers in the puzzle: -
j:_ 10 x 9 7x9 4x9 I
= 9x9 lx 9 5x9 -
Y f—19x8 9x 6 n
~ - \ Y

.

%bus is 12 metres lona. How long \

N

would nine buses be, laid end to end? |

EEERARN

SCHOOL BUS

L
)LL

Complete the missing lett

___xNINE=___E

—___x NINE =

el X NINE =

—____x NINE =

H

ers:i

ENEEEEEEEREEEEN

HH-H

HHH

\




\ 27 ,'

I/ /_;,,\\ ! //"“*\‘ ’ /..—-fﬁ-\\a / \\\"I
l 30 ,..'

Tick the numbers which

appear in the 9 times table.
N N O \ ,/” ‘“’\

k, 32 | k 15
\ / \ \_”/ \ /

63 )| 45
/ \/ \

| 26 /J
.

7

mYMYNYE R
. 81 ,I' 40 \
N NN / N /

There are six in total.

Complete the four number
sentences using the following
three numbers. Each line
needs to include each number.

5 9 45
5 x 9 = 45
9 x 5 = 45
45 + 5 = 9
45 <+ 9 = 5

Can you fill in the puzzie "\

rrerrrrrrrrrrrrrrrrrrrrrrrrrerrrrrrrr P PPy
EEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEE|

’—

/
Use a >, <, or = symbol with

with 9x tables number

the following pairs of

calculations.

sentences?
1
X
2 1
1ol x| 9| =90
1 g 9

Fill in numbers

3x9 @ 28

9 x4 (>)  3x9

9x5 @ 9+9+18
8x9 @ 80-9
9x9 @ 40 x 2
10x9 @ 18 x5
9x11 @ 110-9

9 1 as displayed.
= 8 There are
9 several
9 different ways
of doing this.
B

- _____




08 99 90 8I

pEESEREEERY

7
Complete the sequence:

72 63

54 45 36

27 IB 9

l‘iL

EESEESERAE

How many legs would nine spiders

have?

Find the answers in the puzzle:

)”
—f | share 63 sweets between nine . :?
—| of my friends. How many sweets Efs(L Eis P’iu Ol E
—| do they each get? R{I |T \/XPLECW -
258 ufxu [t |t [B[Y]r |E|T| E
- ot [Fls la|T|a|N]|Y —
HH CENRRIS Flyluly |y IN[e|a]i [r| E
- YylT|C |T|T |BIN|T[NIN| E
=i riH|B [r|r|L |[Y|E|E|l E
=i FIrR|C lo|i [B[N|ol|a|v] E
— ez |F|H E k|IN|O |E|l E

FIE ME|T |0 D|EJO|s r

10 x 9 7x%x9 4x9
e 72 leos 9% 9 I x 9 5x9 -
E 9x8 9x6 ;
iﬁﬁ;ﬁkFkkVkkkVkkkkhkkkkkkkﬁhﬁ?ﬁkﬁkﬁkkkk&ﬁﬁ%_%ﬁﬁas!!i’» 44"£géz

| N
; The bus is |12 metres long. How Iong‘

EESEESERRRNRRRRERnERnnannEnngy

yl,ll

—

would nine buses be, laid end to end? |

08 metres

SCHOOL BUS

i

Complete the missing Ietters:i

ONE x NINE = NINE
TEN x NINE = NINETY

THREE x NINE = TWENTY SEVEN
FIVE x NINE = FORTY FIVE

N\

wif

HHHHAHHHHHEHHHHAHEHHHHH




Tick the numbers which
appear in the Il times table.

TN / \ e \ / ‘“’\

. 55 ,,..' 15
. / N / \L /
Ty / "\\,,_

42 |
J/ \\/

o

AN NN N
L 24 | | 44 ) .11 ) 1110
S\

There are six in total.

TN N ,/

]32;_]‘ '
/\/\

Complete the four number
sentences using the following
three numbers. Each line

needs to include each number.

[ 2 121
X =

rrerrrrrrrrrrrrrrrrrrrrrrrrrerrrrrrrr P PPy
EEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEE|

\ /Use a >, <, or = symbol with

the following pairs of
calculations.

11x3 O 35
11x4 () 5x 11
5x11 <:>11+11+2z
6x11 <:> 80 - 11
9x11 <:> 200 + 2
10x 11 <:> 22 x5
7x11 70 + 11

Can you fill in the puzzle
with |Ix tables number
sentences?

1

1 1 X 9 = 9 9
8

: Remember:
One digit per

> square.

\\
N




Complete the sequence:

32 121 ___ __ 88 __ __ 55 44 __ __ __

/M(ch?lel has Il bags. He has\ /l I XXECGE& I G)

66 coins. He wants Tco Put an HuVvcelLTi DR A

equal amount of coins in each EE |l FTYEI V E

bas. TWENTYTWO @G

How many coins should go in Q@ aa Yl EROCGNUJ

each bag? ZN AY JEXV V F
CF ORTY FO U E
E NI NYTEWNI N

) TFNEVELE F D

X1 SsY T XI 5 WA

ﬁhere are eleven players \

in a soccer team. Eighty _ .

. : Find the answers in the puzzle:

eight players played in a

tournament. How many I 11 4x 1l I'x 6

teams were there?. [ x2 5 x [l 9 x Il

2N

S

\S= Y, N -/
/ \ émplete the missing Ietter)
Jade has eleven pairs of

socks and eleven pairs of
shoes. She is very untidy and _ __xELEVEN= ______
leaves them all in a messy R x ELEVEN =
pile in her room. In total,

how many items are in the
messy pile? _I_xELEVEN= _____ ___

&) Y

—__ExELEVEN= _____ ____




Tick the numbers which Complete the four number
appear in the [l times table. sentences using the following
N N N /” Ty three numbers. Each line

1 | 1 , .
\55/,-" \\33/ ‘\15/ \"*/ needs to include each number.

NN DN Y 1 2l
32 | 8 )42 ) 88 11 x 12 = 121
\_/ ./ N2
‘ 12 x 11 = 121

P N A S A
(24 ) (a4 )11 ) (110 ) 121+ 11 = 12
L N\ |

: : | 121 + 12 = 11

There are six in total.

_‘

Can you fill in the puzzle \fH/Use a >, <, or = symbol with
with [Ix tables number the following pairs of
sentences? calculations.
1
1

y 11x3 @ 35

& E 11x4 (<) 5x 11
g G M N Ml I 5x11 @11+11+22
EE 1 1 8

i ) i 6x11 @ 80 - 11
H - 9x11 200+ 2
i U Fill in numbers @

as _ " | as displayed. 10x 11 @ 22 x5

T 7 1

i - 7x11 @ 70 + 11

’—




Complete the sequence:

132 121 110 99 88 77 66 55 44 33 22 |

T T T T T T T T T T T I rrrrrrrrrrrrrirrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrirorT

T
. S
M(chéel has |l bags. He has 1 XXECG&I C s
66 coins. Hewantsfto Putan HuVvcelLTi DR A
equal amount of coins in each EF T FT Y F1 v E
bag. T WENTYTWO|aG
How many coins should go in Q@ Q@ Yl EROGQG@NUJ
each bag? ZN AY JEXV V F
6 coins C|IF CRT Y FO U E
E N1 NY TENI1T N
\ / T FINE VELE|IF D
X1 SsY T X1 35 WA
There are eleven players
in a soccer team. Eighty
. . Find the answers in the puzzle:
eight players played in a
tournament. How many I 11 4x 1l I'x 6
teams were there? x 2 5 x [l 9 x Il
X N 8 teams
N\
N

/

y_ N

Jade has eleven pairs of
socks and eleven pairs of
shoes. She is very untidy and
leaves them all in a messy
pile in her room. In total,
how many items are in the

messy pile? %

44 (22 socks and 22 shoes)

( Complete the missing letters:

ONE x ELEVEN = ELEVEN

FOUR x ELEVEN = FORTY FOUR
FIVE x ELEVEN = FIFTY FIVE

SIX x ELEVEN = SIXTY SIX

e e
TT T T T 1 T T T T T I T T I T rrrrrrrrrrrrrrd




Tick the numbers which

appear in the 12 times table.

Complete the four number
sentences using the following

H N 7N/ “’\l N ] three numbers. Each line
EE }z 24 ,,." 32 ' \ 14 '\,\ 84 | E .
H O\ \ / N / \/ - needs to include each number.
i N (O g 2 9 108
72 ) (57016 136 ) 2 X =
H \ / N 2 i
] || X =
H N 7\ ,/' N - T T —
] 40 | | 96 /,I' . 60 | | 63 ) s o =
H\ S\ h | _
-\ There are six in total. N
_‘l
Can you fill in the puzzle \ Use a >, <, or = symbol with
= with 12x tables number ' the following pairs of
i sentences? i calculations.
i f 3x 12 3
(] X i X Q 8
i nlE ; ax12 () 12x3
s 12 |x|8|=|9]s g 2x12 O 12+6+6
i i 6x12 ()  80-12
e : 12x 8 Q 400 + 4
= - Remember: }
- - One digit per | 12x10 Q 6x30
s 2 square. " 12 x 7 Q 108 - 24
H \
\ y
\h. -‘!




Complete the sequence:

44 132 ___ ___ __ 84 __ __ __ __ 24 __
\
Jacob gave each of his twelve S
sons three gifts. How many S
presents did he give in total? @F akuagXxeT A H
owWTY TNEVE 5 |
PV Psas ABL a |
PD Q@Y TX 1 sk D |
AT HI BRT Y 51 X |-
PK HANAYEZ | |-
uMCcCPTD AXAI |
\ ; EU OFYTNEWT H
FORTVYE I aH T |
HE VLEWTTAZF }
How many legs do twelve cats T
have? ms
2, Find the answers in the puzzle: T
I x 12 12 x 4 3x 12 |-
2% 6 12 x 2 5 x 12 |
\ :
/A train goes through a station ' o
once every twelve hours. How

many times has the train passed

Complete the missing letters:

the station after sixty hours?

—__ExTWELVE= _____
—__xTWELVE= ______
X TWELVE=T_____ __ X
——_x TWELVE= _____ Y ___R

T T T T T T T T T T T rrrrrrrrrrrrrrrrrrroro




Tick the numbers which

appear in the 12 times table.

7N / N L \ ,/" Y
. 24 ,I' 32 ) {14 ) (84
U\
/"“"\ ,/‘ \ N N
72 ,..' 57 ) 116 | 136

./ \ / NN
N N YN /\
. 40 | | 96 )| 60 ) | 63 )
\_ \_/

There are six in total.

Complete the four number
sentences using the following
three numbers. Each line
needs to include each number.

2 9 08
12 x 9 = 108
9 x 12 = 108
108 + 9 = 12
108 =+ 12 = 9

Can you fill in the puzzle

rrerrrrrrrrrrrrrrrrrrrrrrrrrerrrrrrrr P PPy
EEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEE|

with [2x tables number

sentences?
1
2
X
1 4
1 2 X 8 = 9 6
2 1 4
X 2 8
5 :
- 1 Fill in numbers
: 2 as displayed.
4
A \
\
\.-m—

Use a >, <, or = symbol with

N A A O A

the following pairs of
calculations.

3x12 @ 38

ax12 (5 12x3

2 x 12 @ 12+6+6

6x12 @ 80— 12

12x8 @ 400 + 4

12 x 10 @ 6 x 30
12x7 @ 108 - 24
—‘!




Complete the sequence:

14 132 120 108 96 84 72 60 48 36 24 12

\
Jacob gave each of his twelve s
sons three gifts. How many =
presents did he give in total? QF agkua XxBT A B
OWTY TNEVE 3| |-
PV P s Gs ABL Q@ |-
36 gifts ppa(YyTx 1 slkpo |
AT HI RT Y &1 X)L
PE HANATYEZ T |-
UuMCPTD AX A | e
\ y E U OFY T NEWT|
FORTVYE I ad 17|H
HIE VLEWT|TAF |
How many legs do twelve cats un
have? e
2, Find the answers in the puzzle: T
. 48 legs um
[ x 12 12 x 4 3x 12 |-
2 x 6 2 x 2 5 x12 |
\ N
\‘
‘A
A train goes through a station ' L
once every twelve hours. How

many times has the train passed
the station after sixty hours?

5 times

Complete the missing letters:

FIVE x TWELVE = SIXTY
ONE x TWELVE = TWELVE
FOUR x TWELVE = THIRTY SIX

TWO x TWELVE = TWENTY FOURE
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